EARAROBEEIERT — 2 N— IBISH —F

201898 1H (£) 2@E/NE11H

R REXA

REEF Hin

‘ [Rfg] & ‘ [EERRE] — | Z (&) 20000 =

[A~&£] 1 7% 5,000,000  ~ 23 :2,000,000H 33 :1,300,000 " 43 :750,000 " ~ 5 j& :500,000

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
3 4 2 | EPER 2:05.1 2-3-3-2 | 35.6| 83.6 | 1 456 | FHLBA (FEX)
1188 \’V/J' ) 54.0 (-) (-14) AR
R:F4—-—TTVI 7 B:FvFvU—J BRES 455
PS g o2 | B2 2:05.4 7-6-4-4 | 35.7| 80.6 | 3 454 | AKER (RR)
20111 T729 774 R2T 54.0 (1 3/4) (+4) AIEZER
RWN—5—2yT BT 8Ty 9T74 HE77—L
5 2 | MEB= 2:05.4 4-4-4-5 |35.7| 80.6 | 2 482 | BHBAFE (FEE)
3155 ILTrIT A=) * 54_0% (NF) © ) 7Z -
LW—=F—=29 7 BIREFTI— alll ®—
R —: 4 2 | HAILELE 2:05.6 7-6-7-7 | 35.7| 78.6 | 6 424 | EDEE (RR)
4 a2 IM >R —=IbT 4 5?.0 (a 1/2) -2) (*15—?) REE
R:TTLTURR BIA S HNL— SEHRIS
- S o2 | ERH 2:05.7 4-4-4-5 | 36.1] 76.3 | 4 502 | #EDEE (ER)
sE3| V71T 54.0 (1/2) © ) Hr o h—LT TR
R:bh—trhvL ARy B:7ZX743 J—YTr—LA
. o AT :05. === . : EmEE= (FR)
c N 4 XvyTAHTYTIL o2 G 2(30/54)8 1-1-1-2 | 36.4 | 72.7 | 7 a:g;; e RS
RBALINT Ry TR B 3PP AREG2—T7—L
. R B 05. . . REwm (FR)
71717 XTFETLFaY 2 un 2(/951:? S R AR B ?_Af) %m_,%(
RN—5—-2v 7T BNRTFRe/ MY [EA=bie]
= w /Y3 # o2 | BRE 2:15.9 6-6-8-8 | 45.1| 07.3 | 8 454 | FIUEERR (H)
N - BEEEINT 2% 540 ey Gy |MEER
Ri¥v=>tI574L B:FAILIHR— 7 A LS
@ 71 L
) 48.3-35.7
NA>Z4 L | 13.0-11.8-12.8-13.3-13.2-12.7-12.6-12.0-11.9-11.8
® I —F—EBIERL
13=3r= 4(7,8) (3,5)6(2,1)
2= = 4,7,8(3,5) (2,6,1)
d=zr= (x4,7)8(3,5,1)2=6
43—+ — (4,%7,8)1(3,5)2=6
[ N3
BB 8 270H 714K 1-8 230M B E 1-8 540 JEHE 1-5-8 520M
8 B 8 110 5-8 150H B H 8-1 1,150 B 8-1-5 2,490
1 1309 1-5 230M
5 110M

ABICOVWTRDTEEERROODE. TR LIV,




